10.

Part -1
(General Studies)

The members of Rajya Sabha are elected for a term of

(a) 8 years (b) 7 years (c) 6 years (d) 5 years

Which of the following Articles of the Indian Constitution, is associated with Adult suffrage ?
(a) Article322 (b) Article 324 (c) Article 325 (d) Article 326

Which one of the following writs is issued by the Supreme Court of India in case of illegal
detention ?

(a) Habeas Corpus (b) Mandamus

(c) Prohibition (d) Quo-Warranto

How many subjects have been listed for Panchayats under Eleventh Schedule of the Indian
Constitution ?
(a) 18 subjects (b) 28 subjects (¢) 19 subjects (d) 29 subjects

Who appoints the Chairman of the State Public Service Commission ?
(a) The Chairman of the Union Pubic Service Commission

(b) The Governor of the State

(c) The President of India

(d) The Chief Minister of the State

Which of the following part of the Indian Constitution describes the responsibility of the
state towards promoting international peace and security ?

(a) Fundamental Rights

(b) Fundamental Duties

(c) The Directive Principles of State Policy

(d) The Preamble of the Constitution

How many members of either House of Parliament sign on the resolution for the charges
of impeachment against the President of India ?

(a) One-fourth members (b)  One-third members

(c) Two-third members (d) None of the above

Arrange the following committees chronologically regarding Panchayati Raj :
(1) G.V.K.Rao Committee

(i1)) L.M. Singhvi Committee

(ii1)) Balwant Rai Mehta Committee

(iv) Ashok Mehta Committee

Choose the correct answer from the following codes :

(a) (ii), (ii1), (i) and (iv) (b) (i), (iii), (iv) and (ii)

(c) (iii), (iv), (i) and (ii) (d) (iv), (iii), (ii) and (i)

Which of the following Articles of the Indian Constitution empowers the Governor to issue
the ordinance ?
(a) Article-210 (b) Article-211 (c) Article-212 (d) Article-213

By which of the following Constitutional Amendment Acts, the Preamble of the Indian
Constitution was amended ?

(a) 44™ Amendment Act (b) 42" Amendment Act

(c) 56 Amendment Act (d) 73 Amendment Act
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(TTHTT JTERI)
TS 9T & e &1 3rafy & fore g3 <1d & |
(a) 8ad (b)y 79 (c) 69 d) 59

o= & & vt Siaem =61 S 91 31wse 99 -HdTihR ¥ T § ?

(a) FTWE322 (b) ITWE324  (c) HILWE325  (d) 3IIeWe 326
WA % HaT= Ao g e 3 @ A |1 31ew sy 'Y 8 fy 5 S % 7w § S
fpar ST 8 2

(a) S TcaafTeh (b) THTEH

(c) Sl (d) AfHR-g=a1

A Tfem <t =gl ST & 3t=aid T=mrdi o fore foha fowe gefteg fRr mar & 2
(a) 18 fawx (b) 28 fawx (c) 19 faw= (d) 29 fawx
T Al Tl TR & 37eger <6l Fgfh fopeeh gro R et 2 7

(a) T ATeh BT 3TN o LA (b) TS % T=IUTA

(c) ¥R o gafd (d) TST s gt

= o ¥ Wit Sfagm 1 S |1 Wi Sy i 3 e 6 srfigfg & fow ts %
ITETRI oh1 JUIF hidT & ?

(a) Hifets FrfereR (b) TfeTes sheea

(c) TF = fa-TFrewmes fagra (d) Gfaygm =t wE=reHT

YA o Ugufd o foreg TETRENT SedTel W Hore o el e o fohd™ Tl % gedmer JTewaeh & ?
(a) Uh-IUTS T (b) UH-foers v

(c) g-faers vee (d) ST 4 H HIS TE

TR U | gt fefafad afifo i sershagan saferd Hif ;
(i) Siefi.s. e At

(i) vor.um. T afafa

(iii) SeTa=1 T Hgar afufa

(iv) 3TN Hgar afdfa

= fed T el | ¥ TE W A

(@) (i), (iii), (i) T (iv) (b) (i), (iii), (iv) T (ii)
(©) (i), (iv), (i) T (ii) (d) (i), (iii), (i) T (i)

T B 8 et A 61 s | STE TSIITS Sl STEATCT ST 3 shi W1k T Har @ ?

(a) FTWE210 (b) IFIWG21l (o) IFFWe212  (d) IR 213

T 9 o for gt wsmym stfufaem gro yid afaem <6t e § genes foman i ¢
(a) 449t Genee rfufEm (b) 42af Gy rtufEm

(c) S6ar Ty sttty (d) 734t weny sAfufem
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In Indian Constitution the ‘Rule of Law’ is incorporated by which of the following
Articles ?
(a) Article-13 (b) Article-14 (¢) Article-15 (d) Article-16

Which of the following Constitutional Amendments is associated with the lowering of
voting age in India ?

(a) 61" Amendment (b) 51° Amendment

(c) 41% Amendment (d) 71 Amendment

Where is the Desert Plantation and Research Centre located in India ?

(a) Jaipur (b) Kota (c) Jhalawar (d) Jodhpur
Which of the following states is the largest producer of Mica in India ?

(a) Andhra Pradesh (b) Rajasthan

(c) Bihar (d) Jharkhand

In which of the following years the ‘State Reorganisation Commission’ of India was
established ?
(a) 1953 (b) 1956 (c) 1957 (d) 1960

Which one of the following is the first state in India to use Gross Environment Product in
its Gross Domestic Product calculation ?

(a) Himachal Pradesh (b) Assam

(c) Uttarakhand (d) Kerala

According to ‘India, State of Forests Report 2017’ released on 6" February, 2018, what
percentage of total geographical area of the country is under forests ?
(a) 18.32% (b) 19.54% (c) 21.54% (d) 23.54%

According to 2011 census, which of the following states of India does not have the
Population of Scheduled Castes ?
(a) Sikkim (b) Nagaland (¢) Arunachal Pradesh (d) Goa

In India, Population explosion is related to :
(a) High birth-rate and low death-rate ~ (b) High birth-rate and high death-rate
(c) Low birth-rate and high death-rate ~ (d) Low birth-rate and low death-rate

What is the total length of sea coast-line of India ?
(a) 7016.6 Km. (b) 7516.6 Km. (¢) 7716.6 Km. (d) 7216.6 Km.

The largest coalfield of India is .
(a) Raniganj (b) Bokaro (c) Jharia (d) Giridih

‘The Inland Waterways Authority, India’ (IWAI) was constituted on 27™ October, 1986 as
a statutory body. Where is its Headquarters located ?

(a) Noida (b) Gurugram (c) Udaipur (d) Mumbai
Who among the following was the first Chairman of the Backward Class Commission ?
(a) Jagjiwan Ram (b) Kakasaheb Kalelkar

(c) B.R. Ambedkar (d) None of the above
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T Sfgem 7 “fafer 1 s’ = o @ forg srg=se b ffga @ 7

(a) ITWE13 (b)) FTWE 14 (o) IJFW1S  (d) IFTR 16
11 5 9 S o1 FayTie GINgH WRA H HagH hi 371 i H HiH 8 HEd @ ?

(a) elaigses (b) Slaf &sned (c) 4147 Gumed (d) 719t Gene
YA H HEEUS JeTI Ud STHHTH g hal [Rd 8 7

(a) AR (b) I OREIKIES (d) STuR
i | frefafigd U=l 8 61 319 1 Tl 91 31Eh © 7

(a) AFYUCY (b)) TN (c) feEr (d) TR@E
freforfaa awt & @ fered wRa & T YT STRIRT 61 TATOT ST 7T 7

(a) 1953 (b) 1956 (c) 1957 (d) 1960

11 5 9 S |1 IRG YW TS 2 S 379 Hehol TRe] 3CATG <hl TTUMHT H Fehed TR0 IcITE 1
YT HAT 7

(a) Teae@wew (b) W (c) ITEUE (d)

6 ®E, 2018 =i fifa ‘W o a1 <t feafa faid 20177 % STTHR <91 & o Wit &ahd
1 feren wfererd i & 3=l @ 7

(a) 18.329fw@ (b) 19.549faed () 21.549fasa (d) 23.54 gfowa
2011 T SFATUAT & ITAR 9 o feferiaa et & 9 fopan sragfaa s 6t seen &
TS STt B 7

(a) Tafem (b) FTTATS (c) IREAICT  (d) TEr

T | e fehie grig @ :

(a) A FH-T a7 gg-} F (b) A FH-T AU I JI- H
(c) = IH-|aw 3= gI-q A (d) = STH-g qen = gg- d
YR 1 T qET Y Fof oS foha B ?

(a) 7016.6 Tt (b) 7516.6 T .

(c) 7716.6 b1, (d) 7216.6 T 1.

I 1 GY 921 1T &7 &

(a) TS (b) SR (c) e @ i

‘I T ST ATeRtr, YRd’ (IWAIL) T TaeTieh G981 < ®9 § 27 3R, 1986
1 TMTSd g8 ot | 351 TEATeTd el feurd & 7

(a) T (b) TEH (c) IR (d) T3

far=forfigd 9 9 9 fusdt St st o vum gumfa 9 ¢

(a) STSIEH Y (b) hIhTHTRS hIcieTehl

(c) .3, =gt (d) 3UH | T HIE &I
e e
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Najla Bouden Ramdhane has been nominated as the first female Prime Minister of which
country ?
(a) Nigeria (b) New Zealand (c¢) Finland (d) Tunisia

Environment Organisation ‘Legal Initiative for Forest and Environment’ (LIFE) was
conferred with which award ?

(a) Greenpeace Award 2021 (b)  Sustainable Goal Achiever Award 2021
(c) Right Livelihood Award 2021 (d) Eco-Award 2021

Which Indian State has launched a drone-based afforestation project, named ‘Hara Bhara’ ?
(a) Telangana  (b) Gujarat (c) Assam (d) Punjab

Where was the World Stamp Exhibition ‘Philanippon 2021 held ?
(a) China (b) Japan (c) Germany (d) Taiwan

What is India’s rank in Global Innovation Index 2021 launched by World Intellectual
Property Organization ?
(a) 38 (b) 29 (c) 46 (d) 52

Which Indian State has topped the FSSAI’s 3™ State Food Safety Index ?
(a) Karnataka (b) Tamil Nadu (c) Haryana (d) Gujarat

An online platform developed by IIT Madras to tackle e-waste is known as :
(a) e-Source (b) e-Bin (c) e-Storage (d) e-Recycle

The FI — Index introduced by the Reserve Bank of India refers to
(a) Financial Investment (b) Financial Indication

(¢) Financial Inclusion (d) Financial Innovation

Which of the following became the first Indian City to achieve 100 percent COVID-19
vaccination target ?
(a) Indore (b) Pune (c) Chandigarh (d) Bhubaneshwar

What is the name of a brand launched by the Ministry of Housing and Urban Affairs for
marketing of Self Help Group products ?
(a) Son Chiraiya (b) Shudhdhara (c) Atma Nidhi (d) Swadeshi

Environmental Impact Assessment (EIA), is a planning tool to integrate environmental
concerns into the development process from the initial stage of Planning. When was it first
used in India with river valley projects. etc. ?

(a) in1971 (b) in 1978 (c) in 1998 (d) in 1999
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AT St WM (Najla Bouden Romdhane) Toha 31 <t wgeft Afget gamwsh Tifia g8 7

(@) TSI (b)  Rieis (c) Tohiete (d)
Tt GET ‘oiiTet sffTufed wit v Ug e’ (|118%) i ford 37e1e 9 Jas T 2 ?
(a) I 3T 2021 (b) TEATA A TR 37aTE 2021

(c) T3 ATRAAGS 3TaTE 2021 (d) ! 31ETE 2021

fore It TS 3 B0 9 AT | g 3R SR IiEie T IE 6 g 7

(a) qRTHT (b) T (c) 3rE| (d) TGS

forea eep feene wasil fpatfroaia 2021 gt 3G i T8 off 7

(a) =M (b) S (c) S (d) dEEN

Torva Sifigeh Tuer Ta gy A= TohT 71T TelieeT SIS S99 2021 H WA Shl ish 1 3 ?
(a) 38 (b) 29 (c) 46 d) 52

FSSAI % dIeR T Qe Ratl Geiehish § i 91 WRATT T 3 W 7

(a) i (b) dfirerTg (c) @i (d) T
3-% O fued o fotu 3mg o118 < vg g s fia Ueh 31TeiTs <ichiH &l 9 8
(a) 3-HHE (b) 3-fem () 3-RIS (d) 3-FEmsa
WA Torel §e GRT 3[& fohal TR Fl-Index Heed & :

(a) BISAINITA STl | (b) HIZREA SEIhyH T

(c) ThIEITSIES SeFeo & (d) EAREA FETH &

i 9 9 i 100 gfawa sifag-19 o @& I8 S 9Tt T8l AL &1 7
(1) T (b) o (c) =g (d) eiweR

T HETAT g o ICATG] <h ToUvH o f7u 3mame e wiedl waterd g 3% fohe 7T S 1 A
FE 7

() FAfEET (b)) IgEW (c) ety (d) Tacaf
TATEuiie THTE 3ATehai (EIA) Tsh HIle I3 (H1eM) B, ST 9ie o IRy =1 8 foenrdi

sk & qaiferer & GEi i auTled il & | T =1t afEsT 3nfe 7 WRd § I8 U 91 %e
YN H AR ?

(a 19714 (b) 19787% (c) 19987% (d) 1999%
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Who has been appointed as the CEO of Broadcast Audience Research Council (BARC)
after the resignation of Sunil Lulla ?
(@) T.M.Bhasin (b) Nakul Chopra (c) Rahul Dev (d)  Sunil Tandon

Which organisation has launched an online portal ‘My e-Haat’ to empower artisans and to
strengthen handicraft sector ?

(a) Azim Premji Foundation (b) Infosys

(c) Piramal Foundation (d) HCL Foundation

Who has been appointed as the new Chairman of Microsoft in June 2021 ?
(a) Satya Nadella (b) Steve Ballmer (¢) Amy Hood (d) Sanjay Gupta

In which state India’s largest floating solar power plant was setup ?
(a) Maharashtra (b) Andhra Pradesh (c) Uttar Pradesh  (d) Tamil Nadu

Name the only personality from Uttarakhand who was conferred with the ‘BHARAT
RATNA".

(a) Bhimsen Joshi (b) Govind Ballabh Pant

(c) General B.C. Joshi (d) H.N. Bahuguna

Tehri State merged with the Union of India in the year .
(a) 1920 (b) 1932 (c) 1949 (d) 2000

Which is longest river of Uttarakhand ?
(a) Kosi (b) Kali (c) Bhagirathi (d) Saryu

In which year was ‘Ramman’ declared a World Heritage ?
(a) 2009 (b) 2011 (c) 2008 (d) 2012

Who was the author of ‘Ganika Nataka’ ?
(@) MolaRam (b) Jwala Ram (¢) Shiv Ram (d) Mangat Ram

Avatar Singh Panwar is famous as a
(a) Poet (b)  Sculptor (c) Political Leader (d) Folk singer

On which date did Nagendra Saklani get martyred ?
(a) 6™ Sept., 1932(b) 9" June, 1930  (c) 11" January, 1948 (d) 23™ April, 1930

Which city has been named as the World’s safest city in Safe Cities Index 2021 released
by Economist Intelligence Unit (EIU) ?
(a) Sydney (b) Tokyo (c) Copenhagen (d) Helsinki
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AT Toetl o S o d1¢ Siehre ATeud fEd SRa (amh) o1 5t fohd Fgw fora
TR ?

(a) A, TR H (b) T AU I

(c) & HI (d) Fhazsa=

HRIR I TWH T R FARICT % &3 Dl ASEd i o [T¢ FFH TS 5 Th AT
I W1 3-8 WAl fopan g ?

(a) TS JSh BIESIH (b) SHIGH

(c) Tmet wReyH (d) T H TA BRSIA

ST 2021 H ATSSHIETRE  31e9&] o €9 | fohd g fpan & 2

(a) TAASAT  (b) TG FieW (c) THiEES (d) E< A

AT 1 T8 91 AT §R ol 9399 forg U= 1 wenfud fran man g 7
(a) TEWY (b) ITY T (c) ST IS (d) dftremTg

‘YA T § FHATHA 3TV Shi ThATH Tl o1 I SaTsy |
(a) oA SRt (b)) TMiocdgeaw U d  (¢) SRS SLEL SRl (d)  TELTH. g

“fegdt’ e w1 Wt &9 | foefiienor ad H g3 |

(@) 1920 (b) 1932 (c) 1949 (d) 2000
ITEUE hi Fad ofrel] TS hH i B ?

(a) hiEl (b) TeAl (c) wmfieft (d) T
‘T ol fopg oY forer ferrera =nfea femam mam 7

(a) 2009 (b) 2011 (c) 2008 (d) 2012
“TfOTeRT AT’ & i@ hid I ?

(a) AR (b) SSTAR™ (c) Torerm (d) TTEH
IR g gar ufirg 8 weh HEIH |

(a) i (b) "R (c) Tt (d) ATHTES
RIS e fopg fafer &l sdig gu e @

(a) 6 Toamr, 1932 (b) 9, 1930

(c) 11 e, 1948 (d) 23 313, 1930

AR Ffotoid e (331M5Y) G IR FopT TTu geferd sreti o gaehie 2021 | fopd wgt i
i o1 Hed giara wre At foR man g v

(a) Toet (b) <Afwa (c) SHITTRTH (d) TAfeht
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Who was the first jurist from Uttarakhand to serve as a Judge of the Supreme Court of
India ?

(a) Justice Sudhanshu Dhulia (b) Justice Prafulla Chandra Pant

(¢) Justice M.M. Ghildiyal (d) Justice V.K. Bisht

Which river was given the status of a living creature for first time by the High Court of
Uttarakhand ?
(a) Yamuna (b) Ganga (¢) Kali (d) Pindar

Copper coin related to which dynasty has been discovered at the excavated Yajna Vedika
site at Purola ?

(a) Katyuri (b) Kushan (c) Paurav Varman (d) Kuninda
Which of the following is the oldest inscription found in Uttarakhand ?

(a) Baijnath (b) Palethi (c) Kalsi (d) Pandukeshwar
Which district of Uttarakhand has the largest geographical area ?

(a) Uttarkashi (b) Chamoli (c) Pithoragarh (d) Dehradun
Who was the director of the award winning film “Dev Bhoomi” ?

(a) Goran Paskaljevic (b) Bela Negi

(¢) Shalini Shah (d) Tigmanshu Dhulia

The number of blocks in Uttarakhand is

(a) 95 (b) 90 (c) 100 (d) 54

Which one of the following sportspersons does not hail from Uttarakhand ?

(a) Lalit Upadhyaya (b) Jaspal Rana

(¢) Unmukta Chand (d) Rishabh Pant

Which one of the following wildlife sanctuaries is famous for conservation of snow-
leopard ?

(a) Sona Nadi Wildlife Sanctuary (b) Binsar Wildlife Sanctuary

(¢) Govind Wildlife Sanctuary (d) Rajaji National Park

In which year was Hailey National Park established ?
(a) 1924 (b) 1930 (c) 1936 (d) 1951

In which one of the following lakes human skeletons have been found ?
(a) Dodital (b) Roopkund (c) Hemkund (d) Naukuchiya Tal

The “Van Raji’ tribals in Uttarakhand are found in which district ?
(a) Champawat (b) Pithoragarh (c) Bageshwar (d) Uttarkashi

In which year was ‘Ramman’ a part of the Uttarakhand tableau at the Republic Day parade
in New Delhi ?
(a) 2016 (b) 2011 (c) 2008




47. WA & Har= IO § R B 970 STUEUE o J9H ARfae id 9 7

(a) rfd gy efer (b) =T Speet ¥ vd

(c) =Imgfd uwg.wm. fafeeama (d) I i, fos
48. ITUEUS 3= AT J HaH U foh® Tt skl Siifara wof} =1 ot feam @ 2

(a) I (b) T (c) whrefl (d) fioet
49. U H Ic@T I Afeent T W form 991 & Traf-ud afe o1 fas T gen ® ¢

(a) el (b) um (c) URE d e
50. STRIUS H UTH g9y U= Aferg fifera A g aEn g 7

(a) ST (b) Uit (c) hIeTHl (d) TUZHIR
51. ITUEUE % Tohd SHUC s HTIfeTeh &hel Tk & ?

(a) SRR (b) = (c) Tuedtrrg (d) <Eed
52. CERd fthed ‘G’ 1 e fore fomam e

(a) TR Fhalfa (b) ser A

(c) i =g (d) TaeTsy gfcrm
53. 3IAUEUS H faehm @uel < T 2

(@) 95 (b) 90 (¢) 100 d) 54
54, freAifend § @ % weh Rger) ST 9 98 8 ?

(a) WA UL (b)  STEUTA TOT (c) 3 aA< (d) =TI
55. T3 @ % w1 arsie fUEr o awgai o e g TiHg 8 7

(a) TS F=rsite fogr (b) ToER s=rstte fogr

(c) Tifgw F=iia fergm (d) TS TS A
56. Tl Y ek shi LTI fohg a1 g3 oft 7

(a) 1924 (b) 1930 (c) 1936 d) 1951
57. fom=forfigd § @ forg a1e7 ° we Shehrl T TR 2

(a) SEITA (b)) FIES (c) TS (d)  repferEn aret
58. ITUEUE H O TSl SIS ford Se | feme i g 7

(a) FHTEd (b) TueinTe (c) EYeR (d) IATHEA
59. ‘7 forg oY FRft feoett ° oras feag < Wi # Saurave i wih! &1 e & 2

(a) 2016 (b) 2011 (c) 2008 (d) 2012
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Which is the longest glacier in Uttarakhand ?
(a) Milam (b) Satopanth (c) Pindari (d) Gangotri

Where is the Nehru Institute of Mountaineering located ?
(a) Dehradun (b) Chamoli (¢) Uttarkashi (d) Pithoragarh

Who out of the following was the editor of ‘Purushartha’ ?
(a) Badri Dutt Pande (b)  Girija Dutt Naithani
(c) Sadananda Kukreti (d) Devi Dutt Raturi

Name the district of Uttarakhand where Kartik Swami temple is situated.
(a) Uttarkashi (b) Chamoli (¢) Rudraprayag (d) Almora

Name the author of the book ‘Holy Himalaya’.
(a) Pati Ram (b) E. Sherman Oakley
(c) Sarla Behan (d) Jim Corbett

Who was the last Chand king of Kumaun ?
(a) Mohan Chand (b) Mahendra Chand(c) Kalyan Chand (d) Pradyuman Chand

Name the ruler of Garhwal who was known as ‘Adinath’.
(a) Ajai Pal (b) Sahaj Pal (c) Man Pal (d) Shyam Shah

In which year Dehradun got connected with railway ?
(a) 1910 (b) 1900 (c) 1890 (d) 1885

Khatling glacier is the origin of which river ?
(a) Mandakini (b) Nandakini (c) Bhilangana (d) Pindar

Who was the first poet of Khadi Boli from Uttarakhand ?
(a) Sumitra Nandan Pant (b) Pitamber Datt Barathwal
(¢) Lokratn Pant ‘Gumani’ (d) Chandra Kunwar Bartwal

Shiv Prasad Dabral ‘Charan’ is known as a

(a) Politician (b) Historian (c) Painter (d)  Social worker

Which one is the second highest mountain peak in Uttarakhand ?
(a) Trishul (b) Kamet (c) Chaukhamba (d) Panchachuli




60. ITUEUE TST & Ga8 o] fgAe a1 2 ?

(a) Toom (b) TAuY (c) Tover (d) T
61. € USARIEY HEIH el (I 7 ?
(a) <&Ued (b) =TI (c) ITATHIEA (d) Tueinme

62. T AT ®A qEurd’ % qHEH 9 ?
() sHeauwe (b)) fiiene@Iaml (o) HEeFRd  (d) <@

63. ITAUEUE % 39 TSTcd 1 0 FA13T &l Hifdes @t afet fRa 2 |
(a) SRRt (b) = (c) FEHRAT (d) 3T

64. Tich feHTer™’ I&eh o oi@eh o1 19 FdTSY |
(a) O TW (b) 3.3;MF 3RS (c) T TEA (d) TS9®iee

65. THHTS T AT TG TST HIF AT ?
(a) HEIIE (b)) HERER (c) eI = (d) g

66. TGITA o 3Y YTk hl ATH SdT3T Sl feh ‘31 5 419 & ST ST 47 |
(a) IS UTA (b) TES IA (c) WU (d) ™I

67. SEUGH ford o temm & 2T 7
(@) 1910 (b) 1900 (c) 1890 (d) 1885

68. wdfer faarh fore 4 w1 3gm B ?

(a) TRl (b) Terfert (c) Ty (d) fioex
69. ITUEUS Y G Ficil o U hid hid I ?

(a) YiEH=a ud (b) HATER o ST

(c)  TTehTet Id THTHT (d) =g o SddTA
70. 319 THTE S90S SROT IH A @ Tk HEIH |

(a) T (b) SfaEEHR (c) Tom=m (d) TE ot

71.  ITEUE H GO Y el dod =i AHEH B 7
(a) T (b) HHE (c) = (d) et
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Which of the following animals have three hearts and blue blood ?

(a) Shark (b) Blue Whale (c) Elephant (d)  Octopus
The correct increasing order of elements present in stainless steel is :

(a) Chromium, carbon, iron (b) Carbon, chromium, iron

(c) Carbon, iron, chromium (d) None of these

Laughing gas is :

(a) Nitrogen dioxide (b) Dinitrogen tetraoxide

(c) Carbon dioxide (d) Nitrous oxide

Which of the following represents pressure ?
(a) Force / Density (b) Force/ Area
(c) Force x Area (d) Force/ Acceleration

On which of the following does the resistance of a conductor depend ?
(a) Length (b) Area of cross section
(c) Nature of material (d) All of the above possibilities are correct.

The most advanced order in Gymnosperms is :

(a) Cycadales (b) Coniferales (¢) Gnetales (d) Taxales
Seed develops from :

(a) Ovary (b) Embryo (c) Ovule (d) Embryo sac
Bleeding disease in human is due to the deficiency of :

(a) Vitamin A (b) VitaminD (c) Vitamin E (d) Vitamin K
Pasteurization of milk is done at :

(a) 54° C for 30 minutes (b) 62.8° C for 30 minutes

(¢) 72° C for 32 minutes (d) 100° C for 10 minutes

In which stage of meiotic cell division chiasmata are formed ?
(a) Metaphase (b) Anaphase (c) Prophase (d) Telophase

Nature of Immunoglobulins is :
(a) Protein (b) Lipid (c) Vitamins (d) Minerals

Which of the following is primary memory ?
(a) RAM (b) Hard disk (c) CD (d) None of these

Mucormycosis disease is caused by the :
(a) Fungus (b) Bacterium (c) Virus (d) Protozoan




72. FHATPESE TN e@a i = amars ?

(a) W H (b) ] AH (c) wreftd (d) e d
73. R W H UMET qeal ol g@al g7 A &

(a) SRITERM, hTe, TR (b)  <HTeH, SHIREM, AT

(c) ohTeH, AT, ShIEH (d) A BE -
74, FEH A TE R

(a) TELISH SEHATHETES (b) STETESISH SIS

(c) hIE SEATFES (d) FT3ZH ATFATSES

75. 9= 1 9 %F 91 ¢ &1 fefud g ?
(a) /oM (b) T/&FABA (c) W cAXE&AHA  (d) uA/ERT

76. Trfcifga # 8 form ot =meres w1 afeig R st 8 7

(a) g (b)  FIE Y T SR

(c) ered <l wehfer (d) STIE Gl HerreaTd T § |
77.  SFAGAsTS 1 HaH foehiEd T &

(a) Trsheed (b) BB (c) e (d) T
78. o forpfa g 2

(a) 3IEIEY (b) YU ¥ (c) wUsH (d) YR A

79. TG H Th G <hl AR forueh! st o HRU BT 2 ?
(a) Toafmua (b) fefrda (c) Timsw (d) Trfmsw

80. g1 o1 HTfreh stieltentor &laT &

(a) 54 °C W o firem & fow (b)  62.8 °C W & firgem = fetw

(¢) 72 °C R &g firem = fetw (d) 100 °C W & firem & fotw
81. Teigft ShIfdrent favre 6 fohe atawen # shgawer 1 fmir gar g ¢

(a) TS (b) TATHS (c) Sthwl (d) el

82. SEMICAIgTd h1 Tahfd &

(a) WA (b) fafrs<H (c) faerfm<h (d) @S Tgd 6
83. = d @ o el o 2 ?

@ W (b) = fewh (c) €& (d) T A B T

84. TIHTHTSSHINGE T 38 gl Ial &
(a) HaH (b) e ® (c) Towmra (d) THHET Ysfig &
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8s.

86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

Half byte is known as a :

(a) Nibble (b) Word (c) Register (d) None of these
Which of the following is 4™ generation mobile technology ?

(a) GPRS (b) HSPA (c) LTE (d) All of these
The IC chips used in modern generation of computers are made of :

(a) Carbon (b) Boron (¢) Silicon (d) Germanium
In which inscription the earliest evidence of sati practice is found ?

(a) Prayag Prashasti (b) Eran inscription

(¢) Junagarh inscription (d) Ajanta inscription

‘Nagananda’, a play written by Emperor Harshavardhan, is about which Bodhisattva ?
(a) Manjushri (b) Jimutavahana (c) Vajrapani (d)  Avalokiteshvara
Gondophednis was the ruler of which dynasty ?

(a) Kushana dynasty (b) Saka dynasty

(c) Pahlavas dynasty (d) Kanva dynasty

Who led the ‘Kuka movement’ in the Punjab ?
(@) Ram Singh (b) Balwant Singh (c¢) Kartar Singh (d) Kunwar Singh

In which year “All India Trade Union Congress” was established ?
(a) 1920 AD (b) 1919 AD (c) 1922 AD (d) 1924 AD

Who among the following had been buried at Sikandara near Agra ?
(a) Babur (b) Akbar (c) Sikandar Lodhi (d) Balban

Who among the following was equivalent to modern day Foreign Secretary in Shivaji Asht
Pradhan ?
(a@) Majumdar (b) Shuru Nawis (¢) Sar-i-Naubat (d) Dabir

In which year Surendranath Banerjee was dismissed from Indian Civil Services ?
(a) 1874 AD (b) 1877 AD (c) 1885AD (d) 1890 AD

In which year was the Battle of Dharmat fought ?
(a) 1656 AD (b) 1657 AD (c) 1658 AD (d) 1659 AD

Who was India’s only Jewish viceroy ?
(a) LordRipon (b) Lord Lytton (c) Lord Wavell (d) Lord Reading

Which of the text is written by Sandhyakarnandin ?

(a) Ramacharitam (b) Vikramankadevacharita
(¢) Sandesh Rasak (d) Amuktamalyad

Which of the popular newspaper was published in Tamil ?

(a) National Herald (b) Kesari

(c) Swadeshmitram (d) None of the above

. There are how many bits in one byte ?

(a) 8 (b) 16 (c) 32 (d) None of these




8s.

86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

1% 15 AT 8 Th

(a) oot (b) = (c) e (d) TTHEBE T
= o @ i ot <eft i < Aese e R 7

(@) Sifiamua (b) w@wEdg (©) wAdE (d F=h

Sy feh Fiel % roedl § wgeh 31T H. Faed o Bl 8

(a) HETH (b) EREH (c) Tafoiad (d) <HfEmH
ft 9T 1 UT=fiaw Tre fopm Afierg 4 fierar @ 7

(a) TEMUNEd (b)) WO AleE (c) SHWE Al (d) IS AferE
THTe g¥aEH g e e ArTH § fore it w1 Seei@ @ 7

(a) Hah (b) TommaTEa (c) ST (d) SAaAITRITE
TEhe- Il fehd TSTaT T ITEH AT 7

(a) PYVITSEIA (b) I TSI (c) U&d TSay (d) HUE TSE
IS H R TG BT qcd [ohe fohal ?

(a) TmfEg (b) weted fig (c) R fig (d) FR TR
“Afaet TR ¢ I i shi T fhd oy 58 2

(a) 1920%. (b) 1919%. (c) 1922%. (d) 19245%.
FrferRaa @ & forg 3w & fene fiereetr o ghama T o 7

(a) TR (b) IFAHTL (c) Toehau gl (d) TS
Tararsht & 319 v § frefofad ° @ w9 snyfes fagw afea & auee o1 2

(a) THECR (b) & T () W-T-dEd  (d) TR
LT Sl ol fordt o Wt et dam @ germ ma ¢

(a) 1874%. (b) 1877%. (c) 1885%. (d) 1890%.
A 1 g fohd T §3TT 7

(a) 16567%. (b) 1657%. (c) 1658%. (d) 1659%.
YT <h1 USHHTH T SRIETE i o7 ?

(a) orefa (b) e foAeq (c) oNEddd (d) e afen
Torm o1 Y oA WeATR ! & g h TR R 7

(a) THSEH (b) fashaTheaaid  (c) ECW THH (d) STHHATIG
. hIF T AT THER - dfted H§ JehTi3Td BidT o7 ?

(a) AIFARCE  (b) HEd (c) wqufHEH (d) TTH Y HE TR
. Toh TS H fope Tz g & 7

(a) 8 (b) 16 (c) 32 (d) 3T T B Tl
.................................................................................. e e e



101.

102.

103.

104.

10S.

106.

107.

Part — 11
(General Aptitude Test)

In a football tournament 10 teams are playing. Before final match each team has to play
once, against each opponent. How many total match before final will be played ?
(a) 81 (b) 45 (c) 46 (d 90
1
The sum of a number and four times of its reciprocal is equal to 85. What is/are the

number(s) ?

1 1 1 1
(@ 83 b 3 © 3 & 8-
1 .
Value of s
2+
1
3+ —
I+
4
19 21 43
(a) 13 (b) a4 (c) 19 (d) None of these

A can do a piece of work in 10 days. B can do the same work in 15 days. They worked
together for 4 days and then they both left the work. C joins to finish the remaining work.
If C alone can finish the work in 12 days, then how much time will he take to finish the
remaining work ?

(a) 2 days (b) 3 days (c) 4days (d) 6days

How much time will two trains, moving in opposite directions, take to cross each other if
their speeds are 120 km/h and 100 km/h respectively, and they are 110 km apart ?

1

1 1
(a) 5 hr (b) more than 5 hr (c) less than 5 hr (d) None of these

For a pie diagram which one is true ?

(a) 100% data is represented on it.

(b) total angle made on centre can be more or less than 360°.
(c) it can have a shape other than circle also.

(d) None of these

Radius of a circle is increased by 10%. By what percentage, the side of the square of
maximum size inscribed in this circle will increase ?
(a) 10% (b) 5% (c) 20% (d) None of these




101.

102.

103.

104.

10S.

106.

107.

g - 11
(AT §fg TiET)

Teh Gediel gaHe § 10 S A1 o T € | wigae 3 W qd & 8 I, 1o g wiawnlt S
T H9 WOl B | BTEAe 89 8 g fehad #9 w@ol SR ?
(@) 8l (b) 45 ) 46 d 90

Teh @1 o I8h SYshH % 4 THT 1 AT 8%% | 8 HEAT FATE/R ?

1 1 1 1
(@ 875 (b) 3 © 3 (d -8-7%
1
HIAME B
1
2+
1
3+—1
I+—
4
19 21 43 : .
@ 13 ® 11 © 7o (d) T 8RR T

foret R BT A, 10 feqd § o Teha1 & | B 35 & 1 15 feq § ot gopa 2 | 4 feq 91 wnr-
1Y HM H 2 3R R IHT F0d B W 2 | C 99 g HA H A * forw Jear 7 | Afe
C 3Thet 81 3 1 w1 12 el § T TehdT @ 1 98 AW 1 ! feora fei & wvae swum ?

(a) 2fem (b) 3fe= (c) 4fe @ 6f=

2 o4 S fom e feam o =it W@ €, we gt R ferart < H sk, afe et wfer shwer: 120
fofiraver @ 100 foprfi/aver 2 siea ww g @ 110 T A g m d 7

(a) 5 EUT (b) %a@@aﬁw (©) %sruéﬁm (d) 3T 9 B TEl

Teh UTS ITRE & v o g 7

(a) 3EW 100% data TeRId BT 2 |

(b) g T i o1 101 360° T 7 7 i B Tk 7 |
(c) TEHI ATHR I oh NINH W FS &l Hohell 7 |

(d) THIABET |

Teh 9l <hl B3 © 10% 1 gfg <l STt & | 98 I o e [fifd sAferehan STmepr o i <6t
et feha wfcerd o1 SIReft 7

(@) 10% (b) 5% () 20% (d) 3T Y B T
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108.

109.

110.

111.

112.

113.

114.

115.

116.

Mark the item that does not belong to the group :

(a) Brazil (b) China (¢) India (d) Argentina

What is the angle between the hands of a clock at 12:30 ?

(a) 180° (b) 165° (c) 175° (d) 195°

Find the least number which, when divided by 4,5,6,7,8,9,10 individually leaves
reminder 3.

(a) 2543 (b) 2523 (c) 3523 (d) None of these

(995)2 + (99)2 is equal to :
(a) 999826 (b) 999956 (c) 999116 (d) None of these

Find out the next item in the following series :
Ka Ma Qa Sa N
(@ X (b)y V () T d W

If ‘MINIATURE?’ is written as ‘495912395’ in a code language, then how will ‘PRIVATE’
be written in the same code language ?
(a) 7919125 (b) 7914125 (c) 7194512 (d) 7994125

In the adjoining figure area of the circle C is 9n. Then the area of the square PQRS is

given by
8 / \P
N

(a) 24 (b) 30 (c) 81 (d 36

Two taps A and B can fill a tank in 12 minutes and 18 minutes, respectively. They are
turned on at the same time. If the tap A is turned off after 4 minutes, then how much time
will tap B take to fill rest of the tank ?

(a) 8 minutes (b) 9 minutes (c) 10 minutes (d) 11 minutes

Which of the following pairs represents the same fact ?

@) ¢, {¢} (b) ¢, {0} © o {} (d)  {¢}, {0}




108.

109.

110.

111.

112.

113.

114.

115.

34 He ! Tafgd il S T8 9 ST &
(a) SIS (b) = (c) wrd (d) I

T TSl A g1 S HEA 12:30 I I IV BN 7

(a) 180° (b) 165° ) 175° (d) 195°
g =N AT T1d L (98 4, 5, 6, 7, 8,9, 10 T ITHT-3TH VT ¢ T ATHe 3 3T |
(a) 2543 (b) 2523 (c) 3523 (d) TTH A HE T

(995)* + (99 T AN 2 :

(@) 999826 (b) 999956 (c) 999116 (d) T A HE TEI
frafafad »feen § 31 31 1ol 7e W 37 B

K,M,Q,S,

@ X b Vv () T d W

s ifead e 9 # ‘MINIATURE’ @l ‘495912395 fef@l STm &, dl I8 ke Wil |
‘PRIVATE’ %! & fof@t 511 &b & ?

(a) 7919125 (b) 7914125 (c) 7194512 (d) 7994125

Herwl forst 1 TS g C %1 &% 9n & A S PQRS 1 &t A1 BT 7
S/ \P
(c) 8

1 d) 36

(a) 24 (b) 30

I A 9T B Teh Zehl ohl shAST: 12 e 9 18 e § R Tehd 8 | SF1 Tl 1 Ueh |1 @A
fean man | afe 4 fire & ae T A 1 ¢ KT T T, 99 AW T Bl WA H T B W fepa
A A ?

(a) 8fire (b) 9fime (c) 10fre (d) 11fme
. Tt & B R T Uk € e g g 7
(@ ¢, {0} (®) ¢, {0} © o} (d) {¢}, {0}
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117.

118.

119.

120.

121.

122.

123.

124.

125.

Vandana drove her car 30 kms due North. Then she turned left and drove 40 kms. She then
turned left again and drove yet another 30 kms. Again she turned left and drove her car 50
kms. How far is she now from her initial place ?

(a) 10 kms (b) 50 kms (¢) 30kms (d) 20kms

Pointing to a woman in a photograph, a man said, “her sister’s father is the only son of my
grandfather.” How is the man related to woman in the photograph ?
(a) Uncle (b) Father (¢) Son (d) Brother

How many seven’s (7’s) immediately preceded by 6 but not immediately followed by 4,
are there in the following series ?

74276436753578437672406743
(a) 1 (b) 2 (c) 4 (d o

A + B means B is brother of A; A X B means B is husband of A; A — B means A is mother
of B and A = B means A is father of B. Which of the following option indicates ‘P’ is
grandmother-in-law of ‘T’ ?

(a Q-P+R=T (b) PxQ+R-T
(c) PxQ+R+T (d P+Q+R-T
1 1.
If 2* = 3Y = 12%. Then the value ofE — ; is :
2 1 1 2
(@ = b) - © - @ -
If al’® + b3 + ¢1/3 = 0, then the value of (a + b +c)3 is :
(a) 3abc (b) 9abc (c) 27abc (d) None of these
14 42 21 .
LCM of33, 3520 18
42 42 21 11
@ 3 ® 1 © 2 @ 2
The missing number ? is :
5 51
16 1109] 2 171 7 |48
6 13
(a) 7 (b) 25 (c) 49 (d 129

The ratio of ages of father and the son at present is 5:1. After 12 years the ratio will
become 3:1. What is the sum of present ages of the father and the son ?

(a) 76yrs (b) 77 yrs (c) 74yrs (d) 72yrs




117.

118.

119.

120.

121.

122.

123.

124.

125.

TG 31O R | I e | 30 Ferrt. TRt et 2 | Ot a8 s e 40 o . STt 2 1 O
o1 gt g 37 30 oh. 4. M 9@t @ | TR SR geent 50 Toh. . 1 I R g a9
2 | 379 I8 370 AR €A § fehal g R 2 ?

(@ 10fsdA.  (b) 50fw.. (c) 30Tt (d) 20 T

Teh 30T o = <l 3T SR Hieh Ueh SARE o Hal, “IHeh! d& o a1, T e & 3Tehed
YA 87 | Sk ol o= aTelt 37Nd o 1 g4 8 7
(2) =T (b) o © (d) W

o foret e & fohe W 7 8 et et s 6 2 37 31gawon S areft 5@ 4 T R 2
74276436753578437672406743
(@ 1 (b) 2 (c) 4 (d) 6

A+BHRIFIETF B AR IE R, AxBR 3 efs B AT ufd®, A-Bhiai2fr B
H A AZ I A+-BH3d 2 b B fuar A2 | Fafeaiaa @ @ 9 @1 fashea Pl THI
J sfa st g ?

(a Q-P+R=T (b) PxQ+R-T
(c) PxQ+R+T (d P+Q+R-T

11
e 2r =3y = 12Z,aa;-§?ﬂm:r%:

2 1 1 2
(@ 7 ()~ © -3 d —3
fcal®+b!B+cl3=0, T (a+b+c)P P HAME :
(a) 3abc (b) 9abc (c) 27abc (d) 3T 9 i3 TRl
14 42 21
3355 29 1 T WA

42 42 21 11
(@ 55 ®d) 171 © 2o d 5
SEECC IRV

5 51
16 |109] 2 17 7 |48

6 13
(@) 7 (b) 25 (c) 49 d 129

o™ # fudr 3T g <l 3T 1 U 5:1 B g | 12 I9i o I9EId I8 I 3:1 H |
ST | a1 & O o S| ST T AR TR ?
(a) 769 (b) 7794 (c) 749 ) 724
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126.

127.

128.

129.

130.

131.

A square is drawn by joining the mid points of the sides of a given square. A third square
is drawn inside the second square in the same way and the process is continued
indefinitely. If the side of the first square is 4 cm, the sum of the area of all the squares is :

(a) 16sg.cm (b) 32sq.cm (c) 8sgq.cm (d) 64sq.cm

Complete the following series :
0, 6, 24, 60, 120, 210,
(a) 240 (b) 290 (c) 336 (d) 504

Six people P,Q,R,S, T and U are sitting in a circular path who are facing centre. R is third
from P in the right. Q is third from T in the left, U is between P and T and S is third from
U in the left. The order of these 6 people in clockwise direction is :

() SQRUTP  (b) TSRQUP (c) SRTUPQ (d) SQPUTR

Number of triangles in the following figure is :

(a) 8 (b) 10 ) 12 d 11

The diagram given below shows the number of students who got distinction in three

different subjects out of 500 students. The percentage of students who got distinction in

exactly two subjects is :

Chemistry Maths
(a) 8% (b) 9% (c) 10% (d) 12%
The sum of the following infinite series is :
1 + ! + ! + ! + 0
3 3%x2 3¥x3 3*x4 T
(a) log6 (b) log.2-log3 (c) log3—log2 (d) —log6




126. T T T3 ot Y qmiati < wew foigati ot fireiTd gu we o e S @ | 3E TR i o,
TEL T o TG i ST 2 3R T8 WA STfvEa e @ | A g s S S 4 em g @
HEEd ST o &Rl 1 AN B :

(a) le=aadt. (b) 329 &, (c) 8ot at. (d) 64 = A,

127. et sj@en 1 ol i
0, 6, 24, 60, 120, 210,
(a) 240 (b) 290 (c) 336 (d) 504

128. 6 ARE P,Q, R, S, TTH U T JATHR HF H g hi Th Hg Hih 93 & | R, P qIfed &
ORI Q, THIRHAMEUR | U,PAA TH U B T S, U o a1 & 10 &, dl =<t <hi 5
HifamdseaFaimIFaR :

() SQRUTP  (b) TSRQUP (¢) SRTUPQ (d) SQPUTR

129. F=farfaa fom § gt s A e 2

(a) 8 (b) 10 ) 12 d 11

130. = fezn mn fo 500 B A 9 37 BE1 6 G ewid & faie o fofire fosei 9 fafsrsar umw
12 | Sk < fosani 1 farf3rear wma 5@ o1et ®1E1 1 Tfava @

ofifees fosm
(a) 8% (b)) 9% () 10% (d) 12%
131. F=fafaa sm= oft 19w 2
l+ ! + ! + ! + 0
3 32x2 3¥x3 3*x4 T
(a) log6 (b) log.2-log3 (c) log3—log2 (d) —log6
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132.

133.

134.

135.

136.

137.

138.

139.

If a man takes 2 hrs either to row 7 km upstream or 15 km downstream, the speed of the

current in (kmph) is :

(@) 1 (b 2 (c) 3 (d 4
How many extra lines are needed to join all the distinct pairs of letters of the given figure ?
A B
H C
G D
F E
(a) 40 (b) 25 (c) 24 (d 20

The odd number pair in the following options is :
(a) 26,4 (b) 226,14 (c) 274,16 (d 82,8

If the 25" of August in a year is Thursday, the number of Mondays in that month is :
(a) 4 (b) 5 (c) 6 (d) None of these

In an examination, a student scores 4 marks for every correct answer and loses 1 mark for
every wrong answer. If he attempts all 60 questions and secures 130 marks, the number of
questions he attempts correctly, is :

(a) 38 (b) 40 (c) 42 (d) 45

Find the term which does not fit into the series :
I1CV, 5FU, 91T, 15LS, 170R
(a) 9IT (b) 15LS (c) 170R (d) S5FU

How many numbers from 1 to 100 are there each of which is not only exactly divisible by
4 but also has 4 as its digit ?
(a) 7 (b) 8 (c) 18 (d 25

If x <y and x < z, which of the following statements are always true ? Assume x >0 :
I[:y<z

II:x<yz

I:2x<y+z

(@) Onlyl (b) Onlyll (c) OnlylII (d) IIandIII




132.

133.

134.

135.

136.

137.

138.

139.

Teh 3Tt G o farodia fesm & 7 fopeft S & 3rerem o @ 15 foprfl S # 2 w1 o
e Ry e (fepefi/aen) W R
(@) 1 (b) 2 (c) 3 (d) 4

foa a1 fomt 9 fafvm s1em gl ot S7vE o Sired o o1 fepat ATl {3t i sTawehdi 2 ¢

A B
H C
G D
F E
(a) 40 (b) 25 (c) 24 d) 20
FreferRaa foeredt ® @ T aTfepep I 7
(a) 26,4 (b) 226, 14 (c) 274,16 (d) 82,8

e fereft o 25 31T 1 TEER 2, A1 39 HTE § THaR o fedi hi Tern @
(a) 4 (b) 5 (c) 6 (d) STH A IS TR

weh qlien #, Ueh ferameff Ueieh WEl 3T % 4 3ok I @ 3 Tceh TeTd I o 1 3k Wi & | Al
T8 TfY 60 T A AT & 3T 130 37k U1 2, 1 3Heh g1 Hel B fohU T Y1 hl HEAT & :

@ 38 (b) 40 ©) 42 d) 45
€ G A HITSTT ST =@l H I9gh T8 & :

ICV, 5FU, 9IT, 15LS, 170R
@ OIT (b) 15LS © 170R d) 5FU

19 100 T fopat eam Wt € S 7 shaet 4 @ qot fawrford gt € afess 4 1 Ush o7 off 8 7
(@ 7 (b) 8 c) 18 (d 25

e x<yT@x<z AFMAAASHATFYTEAM TR ? AT x>0 :

[:y<z

II:x<yz

I:2x<y+z

(a) had | (b) HaAAII (c) had Il (d) 1Tl
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140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

Find odd one out from the following alternatives :
(a) Mridang (b) Veena (¢) Sitar (d) Sarangi

Vani is 14" from the right end in a row of 40 girls. What is her position from the left end ?
(a) 24 (b) 25 (c) 26 (d) 27

For a distribution the mode is 28 and the median is 30. Then the probable value of
Arithmetic mean is :
(a) 31 (b) 36 (¢) 30 (d) 58

The mid-values of the continuous class intervals of equal length of a distribution are
25,34, 43,52, 61, 70. Then the first class interval of the distribution is :

(a) 245-345 (b) 25-34 (c) 20-30 (d) 20.5-29.5

There are 5 different roads connecting Hardwar and Delhi. In how many ways can a person
go from Hardwar to Delhi and return if he has to go by one road and return by a different

road ?
(a 20 (b) 09 (c) 10 (d 07
Three coins are tossed simultaneously. What is the probability that there will be exactly
two heads ?
1 2 3 5
(@ 3 (b) 3 © 3 d 3

A doctor gave to a patient 6 tablets and instructed him to take one tablet every 4 hours. If
the patient takes first tablet at 4 PM, when would he take the last ?
(a) 12 Midnight (b) 12 Noon (c) 4AM (d 4PM

If the English alphabets are written in the reverse order and every alternate letter starting
with Y is dropped, which letter will be exactly in the middle in the remaining alphabets ?

(@ O (b) M (¢c) N (d P

Which of the following will have the same mirror image ?

(a) AXNXA (b) CLOLC (c) AOMDE (d) AMUMA
Complete the following series, choosing the correct alternative :

aba ba b bba

(a) aaa (b) aab (c) bab (d) Dbaa

If A means ‘+’, B means ‘—’, C means ‘x’ and D means ‘+’, then the value of
16A14C6D3B6 is :

(a) 108 (b) 42 (c) 38 (d 25
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144.

145.

146.

147.

148.
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150.

frafafad fasmeat § 9 fasirdi foerea s

(a) & (b) <om (c) Toawr (d) araft
40 TTSTRT 1 Teh Utk T ST 3T T 1ol 149 T W 7, 35T T 9 XA R R 7
(a) 24 (b) 25 (c) 26 d) 27

Teh S 1 Sgleh 28 TYT HITEIehT 30 8, A1 FHTI HIET 1 §Wd AH & :
(a) 31 (b) 36 () 30 (d) 58

Tereht Siea & TuH TS % W O 3TAUCl o HEA UM 25, 34,43, 52, 61,70 § | 09 6 I
T T U &
(a) 245-345 (b) 25-34 () 20-30 (d) 20.5-29.5

ERGR ¥ feeeht ST o foTT 5 ST 37T T & | Toh SAfh fehd TR & ERGR & feeett et
TH 377 HehdT & STelfeh 3 TehE Teh TEd ¥ ST 81 3T 377 T&I H AT &l 7

@ 20 b) 09 © 10 d 07

o Tores T A1y 3BT I B | 35! 1 Tiiiekar 2 ok 3tk Q1 R faa s ¢
1 2 3

@ 3 ®) = © 3 @ 32

Teh Siaet HOS 1 6 TA] <1 & a1 Ifd 4 =0 o1 Teh Ml o 1 hadT 3 | Ife 709 ugelt
et 4 S5 19 1 AdT & o 3= Mefl e o ?

(a) 12Tf (b) 12T (c) 4AM. (d) 4PM.

e TS U o 18R I IS A H IoRal I 9 Y | TRET B el 8T G &R I 82
feam <Te 51 g 37er H B i | 31eR = -si= 2w 2

(a O by M (¢) N (d P
frforRaa & & 5 91 3ree edor 7 ot g fewrg e 2

(a) AXNXA (b) CLOLC (c) AOMDE (d) AMUMA
3fa faehed =wafaa e, & E aoft 61 g Fife

aba ba b bba

(a) aaa (b) aab (c) bab (d) Dbaa

Ife A w131+, B Y <, C o1 31 x> W D1 31 = 3, @l 16A14C6D3B6 i1 HH
TiﬁTIT:

(a) 108 (b) 42 c) 38 d) 25
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